MEER % IEHERH/NE MEERES 16
A
1 BEES 1 A= H25.10.18
i) By EAE
faE 35.706333
BE 137.815433
iR |BeThHb,
BEEES 2 A= H25.10.18
sk 4 LB R
fBE 35.704983
BE 137.813200
iR |BeTHb,
BEEES 3 A= H25.10.18
i ZILEK R
fBE 35.703000
BE 137.812150
iR |BeThHb,
BEEES 4 A= H25.10.18
i EEsELY
faE 35.700117
B 137.811767
iR |EeTHd,
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= v EEES 5 A= H25.10.18
i BILERR
fBE 35.704983
B 137.813200

B |[BRETHD.

FEES 6 w2 H H25.10.18
e PEER
R 35.702300
RE 137.816750

BiR |[BETHD,.

BEES 7 w#H H25.10.18
e PEER
RE 35.701967
RE 137.816783

B |[BRETHD.

BEEES 8 &= A H25.10.18
i R
B 35.702067
R 137.816717

B |[RETHD.
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BEHES 9 A H25.10.18
i AR
B 35.702050
R 137.816833

B |[BRETHD.

BEEES 10 i3 H25.10.18
i & EZ A0
B 35.702133
R 137.816700

B |[BRETHD.

BEHEES 1 A H25.10.18
i RNERIKR
B 35.702050
rE 137.816900

B |[BRETHD.

BEEES 12 &= A H25.10.18

i RERARR
e 35.702050
RE 137.816917

B |[RETHD.
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BEEES 13 s A= H25.10.18
2, RERK R
EE 35.702050
BE 137.816950
wR |ReTHa.
BEEES 14 &2 H H25.10.18
A, BRI
EE 35.702050
BE 137.816883
. |=em
R e
BEEES 15 oA H25.10.18
R A, kL
EE 35.701983
BE 137.816933
R |ReTHS.
BEEES 16 oA H25.10.18
A kAL
EE 35.701950
BE 137.816783
mR |ReTHa.
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BEES 17 &= A H25.10.18
i kL
il 35.701933
RE 137.816917
R |BeThb.
BEEES 18 &= R H25.10.18
i kL
il 35.701967
RE 137.816933
R |BeThb.
BEEES 19 A H25.10.18
sk 4 BEERENEKO
RS 35.702000
RE 137.816500
R |BETHD,
BEEES A=
i
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RE




